
𝑦 = 𝑓(𝑥) 𝑥0 𝑥0 𝑥 ∆𝑥 ≠

0 𝑥0 + ∆𝑥 𝑦 ∆𝑦 = 𝑓(𝑥0 + ∆𝑥) − 𝑓(𝑥0)

lim
∆𝑥→0

∆𝑦

∆𝑥
= lim

∆𝑥→0

𝑓(𝑥0 + ∆𝑥) − 𝑓(𝑥0)

∆𝑥

𝑦 = 𝑓(𝑥) 𝑥0 𝑦 = 𝑓(𝑥) 𝑥0

𝑥0 𝑦′|𝑥=𝑥0

𝑑𝑦

𝑑𝑥
|𝑥=𝑥0

𝑑𝑓(𝑥)

𝑑𝑥
|𝑥=𝑥0

𝑓′(𝑥0)

𝑦 = 𝑓(𝑥) 𝑥0 lim
∆𝑥→0−

𝑓(𝑥0+∆𝑥)−𝑓(𝑥0)

∆𝑥

𝑓(𝑥) 𝑥0 𝑓−
′(𝑥0)

𝑓+
′(𝑥0) = lim

∆𝑥→0+

𝑓(𝑥0+∆𝑥)−𝑓(𝑥0)

∆𝑥

𝑦 = 𝑓(𝑥) 𝑥0 𝑦 = 𝑓(𝑥) (𝑥0, 𝑓(𝑥0))

𝑓′(𝑥0) 𝑦 = 𝑓(𝑥) (𝑥0, 𝑓(𝑥0))

𝑦 − 𝑓(𝑥0) = 𝑓′(𝑥0)(𝑥 − 𝑥0)

𝑓′(𝑥0) ≠ 0 𝑦 = 𝑓(𝑥) (𝑥0, 𝑓(𝑥0))

𝑦 − 𝑓(𝑥0) = −
1

𝑓′(𝑥0)
(𝑥 − 𝑥0)

𝑓′(𝑥0) = 0 𝑦 = 𝑓(𝑥) (𝑥0, 𝑓(𝑥0)) 𝑦 = 𝑓(𝑥0)

𝑥 = 𝑥0

𝑓′(𝑥0) = ∞ 𝑦 = 𝑓(𝑥) (𝑥0, 𝑓(𝑥0)) 𝑥 = 𝑥0

𝑦 = 𝑓(𝑥0)



𝑓′(𝑥0) 𝑓(𝑥) 𝑥0

𝑠 = 𝑠(𝑡) 𝑡0 𝑣𝑡0
= 𝑠′(𝑡0)

𝑦 = 𝑓(𝑥) 𝑥0 𝑓(𝑥) 𝑥0

𝑢(𝑥) 𝑣(𝑥)

[𝑢(𝑥) ± 𝑣(𝑥)]′ = 𝑢′(𝑥) ± 𝑣′(𝑥)

[𝑢(𝑥)𝑣(𝑥)]′ = 𝑢′(𝑥)𝑣(𝑥) + 𝑢(𝑥)𝑣′(𝑥)

[𝐶𝑢(𝑥)]′ = 𝐶𝑢′(𝑥) 𝐶

[
𝑢(𝑥)

𝑣(𝑥)
]

′

=
𝑢′(𝑥)𝑣(𝑥)−𝑢(𝑥)𝑣′(𝑥)

𝑣2(𝑥)
(𝑣(𝑥) ≠ 0)

𝑢 = 𝑢(𝑥) 𝑥 𝑦 = 𝑓(𝑢) 𝑢 𝑦 =

𝑓[𝑢(𝑥)] 𝑥

𝑑𝑦

𝑑𝑥
=

𝑑𝑦

𝑑𝑢
∙

𝑑𝑢

𝑑𝑥

𝑦′ = 𝑓′[𝑢(𝑥)] ∙ 𝑢′(𝑥)

𝑦 = 𝑓(𝑥) 𝑥 = 𝑓−1(𝑦)

[𝑓−1(𝑦)]′ =
𝑑𝑥

𝑑𝑦
=

1

𝑑𝑦
𝑑𝑥

=
1

𝑓′(𝑥)



𝐶′ = 0 𝐶

(𝑥𝑛)′ = 𝑛𝑥𝑛−1 𝑛

(log𝑎 𝑥)′ =
1

𝑥 ln 𝑎
(𝑎 > 0, 𝑎 ≠ 1)

(ln 𝑥)′ =
1

𝑥

(𝑎𝑥)′ = 𝑎𝑥 ln 𝑎 (𝑎 > 0, 𝑎 ≠ 1)

(𝑒𝑥)′ = 𝑒𝑥

(sin 𝑥)′ = cos 𝑥

(cos 𝑥)′ = − sin 𝑥

(tan 𝑥)′ =
1

cos  2𝑥
= sec  2 𝑥

(cot 𝑥)′ = −
1

sin  2𝑥
= − csc  2 𝑥

(sec 𝑥)′ = sec 𝑥 tan 𝑥

(csc 𝑥)′ = − csc 𝑥 cot 𝑥

(𝑎𝑟𝑐𝑠𝑖𝑛𝑥)′ =
1

√1−𝑥2

(𝑎𝑟𝑐𝑐𝑜𝑠𝑥)′ = −
1

√1−𝑥2

(𝑎𝑟𝑐𝑡𝑎𝑛𝑥)′ =
1

1+𝑥2

(𝑎𝑟𝑐𝑐𝑜𝑡𝑥)′ = −
1

1+𝑥2

1 𝑓(𝑥) 𝐷 𝑓′(𝑥) 𝐷

2 𝑓(𝑥) 𝐷 𝑓′(𝑥) 𝐷



𝑦 = 𝑓(𝑥) 𝑓′(𝑥) 𝑥 [𝑓′(𝑥)]′ [𝑓′(𝑥)]′

𝑦 = 𝑓(𝑥)

𝑓′′(𝑥) 𝑦′′
𝑑2𝑦

𝑑𝑥2

𝑑2𝑓(𝑥)

𝑑𝑥2

⋯⋯

𝑦 = 𝑓(𝑥) (𝑛 − 1) 𝑦 = 𝑓(𝑥) 𝑛  

𝑓(𝑛)(𝑥) 𝑦(𝑛) 𝑑𝑛𝑦

𝑑𝑥𝑛

𝑑𝑛𝑓(𝑥)

𝑑𝑥𝑛

𝑦 = 𝑓(𝑥) 𝑛 𝑛

𝑓(𝑥) 𝑓′(𝑥), 𝑓′′(𝑥) 𝑓′′′(𝑥)

𝑓(𝑛)(𝑥) 𝑛 ≥ 4

(𝑒𝑥)(𝑛) = 𝑒𝑥

(𝑎𝑥)(𝑛) = 𝑎𝑥 ∙ ln𝑛𝑎(𝑎 > 0)

(cos 𝑥)(𝑛) = cos (𝑥 + 𝑛 ∙
𝜋

2
)

(sin 𝑥)(𝑛) = sin (𝑥 + 𝑛 ∙
𝜋

2
)

(𝑥𝑚)(𝑛) = 0 𝑚 < 𝑛

(𝑥𝑚)(𝑛) =
𝑚!

(𝑚−𝑛)!
𝑥𝑚−𝑛 𝑚 < 𝑛

(𝑥𝑛)(𝑛) = 𝑛!

(ln 𝑥)(𝑛) = (−1)𝑛−1 (𝑛−1)!

𝑥𝑛

𝑦 = 𝑓(𝑥) 𝑥0 𝑥0 + ∆𝑥 𝑥0

∆𝑦 = 𝑓(𝑥0 + ∆𝑥) − 𝑓(𝑥0)



∆𝑦 = 𝐴∆𝑥 + 𝑜(∆𝑥)

𝐴 ∆𝑥 𝑜(∆𝑥) ∆𝑥 ∆𝑥 → 0

𝑓(𝑥) 𝑥0 𝐴∆𝑥 𝑓(𝑥) 𝑥0 ∆𝑥 𝑑𝑦|𝑥=𝑥0

𝑑𝑦|𝑥=𝑥0
= 𝐴∆𝑥

𝑦 = 𝑓(𝑥) 𝑥0 𝑓(𝑥) 𝑥0

𝑑𝑦|𝑥=𝑥0
= 𝑓′(𝑥0)∆𝑥 = 𝑓′(𝑥0)𝑑𝑥

𝑑𝑦|𝑥=𝑥0
= 𝑓′(𝑥0)∆𝑥 𝑥 ∆𝑥 𝑦 = 𝑓(𝑥) (𝑥0, 𝑦0)

∆𝑥 → 0 𝑑𝑦 ∆𝑦 𝑀(𝑥0, 𝑦0)

𝑄𝑃 𝑦 = 𝑓(𝑥) 𝑄𝑁

𝑦 = 𝑓(𝑥) 𝑥0 𝑓(𝑥) 𝑥0

𝑑(𝐶) = 0 𝐶

𝑑(𝑥𝑛) = 𝑛𝑥𝑛−1𝑑𝑥 𝑛

𝑑(log𝑎 𝑥) =
1

𝑥 ln 𝑎
𝑑𝑥(𝑎 > 0, 𝑎 ≠ 1)

𝑑(ln 𝑥) =
1

𝑥
𝑑𝑥

𝑑(𝑎𝑥) = 𝑎𝑥 ln 𝑎 𝑑𝑥(𝑎 > 0, 𝑎 ≠ 1)

𝑑(𝑒𝑥) = 𝑒𝑥𝑑𝑥

𝑑(sin 𝑥) = cos 𝑥 𝑑𝑥

𝑑(cos 𝑥) = − sin 𝑥 𝑑𝑥

𝑑(tan 𝑥) =
1

cos  2𝑥
𝑑𝑥 = sec  2 𝑥𝑑𝑥

𝑑(cot 𝑥) = −
1

sin  2𝑥
𝑑𝑥 = − csc  2 𝑥𝑑𝑥



𝑑(sec 𝑥) = sec 𝑥 tan 𝑥 𝑑𝑥

𝑑(csc 𝑥) = − csc 𝑥 cot 𝑥 𝑑𝑥

𝑑(𝑎𝑟𝑐𝑠𝑖𝑛𝑥) =
1

√1−𝑥2
𝑑𝑥

𝑑(𝑎𝑟𝑐𝑐𝑜𝑠𝑥) = −
1

√1−𝑥2
𝑑𝑥

𝑑(𝑎𝑟𝑐𝑡𝑎𝑛𝑥) =
1

1+𝑥2 𝑑𝑥

𝑑(𝑎𝑟𝑐𝑐𝑜𝑡𝑥) = −
1

1+𝑥2 𝑑𝑥

𝑢 = 𝑢(𝑥) 𝑣 = 𝑣(𝑥)

𝑑(𝑢 ± 𝑣) = 𝑑𝑢 ± 𝑑𝑣

𝑑(𝑢𝑣) = 𝑣𝑑𝑢 + 𝑢𝑑𝑣

𝑑(𝐶𝑢) = 𝐶𝑑𝑢 𝐶

𝑑 (
𝑢

𝑣
) =

𝑣𝑑𝑢−𝑢𝑑𝑣

𝑣2
(𝑣 ≠ 0)

𝑦 = 𝑓(𝑢) 𝑢 = 𝑢(𝑥) 𝑦 = 𝑓[𝑢(𝑥)]

𝑑𝑦 = 𝑓′(𝑢) ∙ 𝑢′(𝑥)𝑑𝑥 = 𝑓′(𝑢)𝑑𝑢

𝑢 𝑑𝑦 = 𝑓′(𝑢)𝑑𝑢

𝐹(𝑥, 𝑦) = 0 𝑦 = 𝑦(𝑥)

𝑥 𝑦 𝑦 𝑥 𝑦

𝑦 𝑥 𝑦′ 𝑥 𝑦 𝑦′ 𝑦′



𝑦

𝑦′

𝑑𝑥 𝑑𝑦
𝑑𝑦

𝑑𝑥

𝑦 = 𝑦(𝑥) 𝐹(𝑥, 𝑦) = 0
𝑑𝑦

𝑑𝑥
= −

𝐹𝑥(𝑥,𝑦)

𝐹𝑦(𝑥,𝑦)
𝐹𝑦(𝑥, 𝑦) ≠ 0

𝑦 𝑥

{
𝑥 = 𝜑(𝑡),

𝑦 = 𝜓(𝑡)

𝑑𝑦

𝑑𝑥
=

𝑑𝑦

𝑑𝑡
∙

𝑑𝑡

𝑑𝑥
=

𝑑𝑦

𝑑𝑡
∙

1
𝑑𝑥

𝑑𝑡

=
𝜓′(𝑡)

𝜑′(𝑡)

𝑑𝑦

𝑑𝑥
=

𝜓′(𝑡)

𝜑′(𝑡)

𝑑𝑦

𝑑𝑥
=

𝑑𝑦

𝑑𝑡
𝑑𝑥

𝑑𝑡


